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\28. Statements: N
P>Q<A<B2E M>N=B<sX

A. If only conclusion | is true.
B. If only conclusion Il is true.
C. Either conclusion | or Il is true.

D. Neither conclusion I nor Il is true. nclusions: &< 6 < M
E. Both conclusions | and Il are true. ILN>N II\M —
g d C 29. Statement:

A>N<J)J=L<D>U>W<G<Y2"Z

85

—
Conclusions:
DQA <Gl >Z <0//
30. Statement:

% E>G<F>A2Y>2Q=V=D<W<H
:__D Conclusions:
M>DII¢.<=D QQJ
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A. If only conclusion | is true. 31. Statements: I S
B. If only conclusion Il is true. l.  Only a few pink is white. ’Q

C. Either conclusion | or Il is true. Il. Only White is black.
D. Neither conclusion | nor Il is true. (6{)
E. Both conclusions I and Il are true. Conclusions:

~All White being Pink is a possibility.
WSome Pink being Black is a possibility

32.Statements:
C. ome Tables are Chairs.
Q ome Sofa are Desks.
No Chair is Desk.

Conclusions: C“"y‘%
“ﬁ%ws are not Sofa.

~All Chairs are Sofa.
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In'a family of three generations and eight members, K is married to T, who is the only son of S. M is ma”
to P, who is the mother of Q. U, who is the sister-in-law of T, is married. T has no sibling. H is the only son of

Q.Sisamaleperson.?ﬁ*rl'tﬁﬁ,'ﬂ’f 3R 316 WSEAT & IRAR A, KHT 9@ TH g3, ST SFHI SWFIT
qx 1 MFT BT P 73M &, Y QY AT &1 U, N TH RATeT-aA-ar ¢, Raffed & TFHF FE

S .
HeleX 1€ ¥ H, QFT FHalar IF § STF T¥9 qfad ¢
% 33.How is H related to M?
A. Grandson B. Brother
C. Father D. Grandfather

E. None of the above

34.How many people are there in the third generation?
A. 2 B.3

(o | D. More than 3

E. None of the above

35.What is the ratio of the number of females to that of
male members in the family?
A.5:3 B.1:4
C.1:1 D.3:5

E. None of the above
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Study the information given below and answer the questions based on it. There are 8 friends A, B, C, D, E, F,
and H in a group. They have their birthdays in different months - April, June, July and August of the same year
but not necessarily in the same order on different dates viz. 9th and 16th. E celebrates his birthday in the
month which does not have 30 days. Only one person celebrates his birthday between E and G. C celebrates
his birthday immediately before E. Only one person celebrates his birthday between C and F. D celebrates his
birthday before G but not immediate of C and G. Only one person celebrates his birthday between D and A. H
does not celebrate his birthday immediate of G. G does not celebrate his birthday in the month which has 30
days. A celebrates his birthday before D. D does not celebrate his birthday which has even number as the date
of birth. B celebrates his birthday in the month of August but not immediately before or after G.

AR & T FATHRT FT IETIA FY 3T 37 W IMTRT T2t F 39T &1 Th FHAE A 8 AT A, B, C,
D,E, F,G 3R H¥| 3% SIeafeet Jrerer-3rerer AT 3 usal ¥ - T & a¥ & 3, 5T, s 3k
IET A AT TFY AT & HeEr-3rer<r ai@l A AT A & g odt v 16dt| E 3qaTr F=aAfeT
3 Al A A«ar § 9 3 ’ g1 Fad T ITFd AIAT SIeAfe ENT G & =
HATAT 81 C 39T SAoAfeT AraT g1 ¢ 3R F&F T Faa v afFd T SFARH
G & &b AT Fad Uh ITod YT
T el : ‘ G B | G 39T SToHTG 39
AR A R AT & w30 R 1 81 A TS FeAfGT DH gger HAATAT 81 D HYAT AR
A TEAT gl &1 B 39T A-AGHA 3MTET & HEld A HATAT & oifhel

7
43
3

:


http://www.mahendras.org/

q"¢~od‘“

== o103 ve
S " CLERK 2022 / /EEmat 11:30 AM/“

Study the information given below and answerﬂe’
questions based on it. There are 8 friends A, B, C, D,
E, F, G and H in a group. They have their birthdays in
different months - April, June, July and August of the
same year but not necessarily in the same order on
different dates viz. 9th and 16th. E celebrates his
birthday in the month which does not have 30 days.
Only one person celebrates his birthday between E
and G. C celebrates his birthday immediately before
E. Only one person celebrates his birthday between
C and F. D celebrates his birthday before G but not
immediate of C and G. Only one person celebrates
his birthday between D and A. H does not celebrate
his birthday immediate of G. G does not celebrate
his birthday in the month which has 30 days. A
celebrates his birthday before D. D does not
celebrate his birthday which has even number as the
date of birth. B celebrates his birthday in the month
of August but not immediately before or after G.
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Date Person

April
April
June

IR e A
I N L
EN R
I L R

36. In which of the following month does G’s birthday occur?

.G &T FAfeT Arafaf@d & ¥ 59 #da & 3dar 872

A. April B. June C. July D. August E. Cannot be determined

37.Who among the following is elder to D?

frafaf@a & @ #l D& a7 872

A.BB.GC.FD.EE.H

38.How many birthdays are there in between A and C?

AR C&F AT fhda SIeAfeT &7

A. None B. Four C. One D. Two E. Three
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39.Who among the following is younger than C?

frafaf@a 7 & i c ¥ BT 372
A.D B.H CA DB EF

April

une few v Y & g9 oer sia 2

30 April ) ) .
. 40.Who is the youngest of the given friends?
30
20 _ A. None B.G C.B D.C E.D

S [ 9| 6
N
EIE R
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There are 10 people Q to Z sitting in a line facing towards the north. V is sitting 4th
from the right end, also there is one person sitting between V and X. S is sitting 4th
from the left of V. U and S are not sitting next to each other. There are as many people
sitting on the left of S as are sitting on the right of Q. R, who does not sit next to X, is
sitting on the 2nd to the right of Q, There are three people sitting between Rand T. W
is sitting on the immediate left of Y.

UF GfFd # Q¥ zd® 10 AfFT 30 $ M AW F& 45 ¢l v
TATT I &1 g, 91T & VIR X & i ve afea dor gl s,
T W o1 81 UBR s & T A oTar 88 & s&F a1t
AT S T oda QF ST 3T &S &1 R, S X F9Tf A AT do1 §, QF
gqa?wwaar%,RsﬁTT$aﬁirﬁ ;

ChSg 3
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There are 10 people Q to Z sitting in a line facing towards the north. V is sitting 4th
from the right end, also there is one person sitting between V and X. S is sitting 4th
from the left of V. U and S are not sitting next to each other. There are as many people
sitting on the left of S as are sitting on the right of Q. R, who does not sit next to X, is

sitting on the 2nd to the right of Q, There are three people sitting between Rand T. W
is sitting on the immediate left of Y.
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1. Who among the following sits to the immediate right of Z?
ffaf@a & @ sl 23 & g ot 872

A.Y

B.W

C.R

D.T W Y § Z X T ¥ © U R
E. X

2.How many people are sitting between Y and U?

Y IR UF AT fhaa afea &8 &2

A.5B.4C.6D.7E.3

3.Who among the following sits second to the right of Z2?
frafaf@a & & Fiq zF T ¥ qEY TYET W 37 872

A.VB.QC.RD.TE.Y
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4. Which of the following statements is/are correct based on the given inforrr“
dl € TSR F YR R Aeafaf@a & F sl I Fa 98 2272

A. X sits third to the right of Q.

B. U is the only neighbour of R in the row.

C. Sand V are adjacent to each other.

D. Three people are sitting between Y and X.

E. W and U are sitting at the ends of the row.

5.In which position is V seated with respect to W?
W& Fegd # VIR Tue 9 der 87

A. sixth to the right

B. fifth to the left

C. third to the right

D. second to the left

E. None of the above

w Y 858 Z X T ¥V Q U
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6.If in the word ‘PRODUCE’, all the vowels are changed to the next letter and all the
consonants are changed to the previous letter. Which of the following letters is fourth
from the right end?

afe 'PRODUCE' ereg &, el ¥t Y 39Tl e A aqer feam o @ 3k @sfh
ol ® oo 3eR A aqa Rwm sar 81 Afaf@a & @ sia @1 e
g B8R & qtur 8§72

A. P

B.O

C.V

D. C

E. None of the above
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7.How many such pairs of letters are there in the word ‘SEGMENT’ each of which has as
many letters between them in the word as in the English alphabet (Both forward and

backward)?

%l?@?m?ﬁafmﬂ?@mﬁa’l?% ad @ 9@+ & fiT 3aa & 7R
g foaa & 3 qofAmar (3 3R S ) & 87

A. One B. Two C. Three D. More than three E. None
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Point E is 5m to the North of point A. Point K is 8m to the West of point E. Point B is 3mto
the North of point P, which is 8m to the East of point O. Point C is 8m to the North of point
X, which is 10 to the East of point B. Point O is 10m to the South of point K.

ﬁg ﬁgAﬂ?m#SIﬁﬁ%lﬁ:‘% ﬁgEﬂ;qﬁaﬁ:ﬁrSIﬁu%lﬁg , 9g

& W A 331131%31 :ﬁu%lﬁgcm:ﬁrs s g
#1, it g BF q& | g 0, g K& af@or & 10 #ex 1
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8. In which direction is point O with respect to point E?
fag E% geast & faq o fFw faem & 372

A. North-West B. South-West C. South D. East E. North

9.What is the approximate distance between points B and C?

g B3t c&F & A sgarfaa gt frasit 87

A.10mB.11ImC. 13m D. 16m E. 18m

10.What is the distance between points A and B?
fag A3 B i i gt Fm 87

A.3m B.2m C. 4m D. 5m E. Cannot be determined
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Six boxes A, B, C, D, E, and F of different colours, viz., Black, Blue, Green, Grey, Red, and White are
kept one above the other but not necessarily in the same order. The lowermost position is 1, the
position immediately above is 2, and so on up to the topmost position is 6. The Grey box is kept
at the bottom-most position and immediately below the box E. Box E is neither White nor Blue in
colour. A, the Black box, is kept at the topmost position. D is Red in colour and kept at an even
number position. C is neither Blue nor Green and kept below D. Box B is not adjacent to D. The
box on the fifth position is not Green in colour.

Bg 919 A, B, C, D, E, 3R F 3TA-37eT9T TN & &, HUTT HIaAT, olell, &0, A, T 3

TG, Th & FUT Th ™I ¢ odfehed STH 81 fF st T & 8 9w A &7 RBufa 1
g, 3 3 AT FRyufa 2 8, 3k st v gad 3w Y Rufa 6 g1 ¥ I ga9 A=
T ) @M 4T ¢ AR e EF &F AT 7 dfew T A whe ¢ AR T & Aer B
| A, sl 9190, F To@ ST T 9T @1 IAT &1 DHI T a1 ¢ AR 38 A

gear i Bufa & @ = 31 e a e § 3R 7 & & AR pF AR @
fsaT B, D & AT Al &1 IS T W AT qMFH T T ’
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Six boxes A, B, C, D, E, and F of different colours, viz., Black, Blue, Green, Grey, Red, and White are
kept one above the other but not necessarily in the same order. The lowermost position is 1, the
position immediately above is 2, and so on up to the topmost position is 6. The Grey box is kept
at the bottom-most position and immediately below the box E. Box E is neither White nor Blue in
colour. A, the Black box, is kept at the topmost position. D is Red in colour and kept at an even

number position. C is neither Blue nor Green and kept below D. Box B is not adjacent to D. The
box on the fifth position is not Green in colour.
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Colour 11. \[Vhich box is Green in colour? A | 4
&Y T &1 T AT ST 87
Black A.FB. D C. CD. BE. None of the above

Blue

12.Which of the following combinations is correct?

famafaf@aa & @ a7 ar g a@& 872

C hite A. E - Green B. F - Blue C. B - Grey D. D - Red E. All of the above

. reen

. rey 13.The Blue box is kept at the : position.
o[ dierd Bl Rufa & w@r = g

A. fourth B. fifth C. First D. third E.None of these
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Black

m o w
lue

A

y

C | white
=

14.How many boxes are kept between D and the Green box?
D 3R & Bsd & #ALy Faa fBsd & 1w &7
2

A.

B.3

C. More than 3
D.

E.

1
None of these

15.Which of the following is kept at the third position?
fmfaf@a & @ Fa v v o @ = 82
A. The green box

B.F

C.B

D. The Blue box

E. None of the above
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In a certain code language,

‘Square disturb on down’ is coded as ‘dl ta ap ea’
‘Square wall on disturb’ is coded as ‘dl ap ta uv’
‘down wings inner beauty’ is coded as ‘xy df ss ea’
‘disturb beauty wall down’ is coded as ‘ta ss uv ea’

20.Code ‘ea’ represents the word
A. Down B. Disturb

C. Inner D. Beauty

E. None of the above

16. How is ‘beauty’ coded in the given language?
A. ss B. xy C. df D. ea E. None of the above

17 .Which of the following is the code for ‘wings’?
A. xy B. uv C. df D. Either xy or df E. ss

18.How will you code “Square Wall”?
A. dl uv B. uv ap
C.apta D. ta uv
E. Cannot be determined

19.Which of the following is the code for ‘disturb’?
A. uv B. ea
C.dl D. ss
E. None of the above
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Statements:

Some red are blue.

No blue is a doll.

Only a few blue are black.
All green is black.
Conclusions:

). Some green are blue.
II). Some black are not doll.
). All red can be doll.
IV). No green is a doll.

A. Only 1V follows

B. Only II follows

C. Only I and 1V follow

D. Only I and II follow

E. None follows
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Nine personsi.e.P,Q,R,S, T, U, V, W, X were born on different months i.e. January,
March, April, May, July, August, September, October, November but not necessarily
in same order. Four persons were born between P and T. P was born before T. Q was
born in the month of 30 days after July. T was born after Q and before R. There were
as many persons born before X as after R. one person was born between U and V. S
was born before U and after W.

ateafearaTaPr, Q,R, S, T, U, V, W, X ST SToH TT9T-31l9T ARl ATl STeTadl, AT,
3, 7S, S[ATS, 3TE, ﬁw JTFEAT, A H FIHT YT ofehet SR 1 o gl
HH A PaﬁTTa;a"Eraw—zrﬁ-?rﬁarwirl P &1 oIeH T & gl @317 AT| Q FTF+H
SATS & 30 e a1E a1 A H gAT ATI T, Q & a1 AR R & yea YT gam am| x A
Wﬁaﬁwﬁ‘ﬂaﬁﬁﬁ?ﬂwm uaﬁtva:a"lirw—qﬁ?raﬂﬂganmlsw

ﬂu#%ﬁaﬁtwaﬁﬁgmml !T' |
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Nine personsi.e.P,Q,R,S, T, U, V,
W, X were born on different months
i.e. January, March, April, May, July,
August, September, October,
November but not necessarily in
same order. Four persons were born
between P and T. P was born before
T. Q was born in the month of 30
days after July. T was born after Q
and before R. There were as many
persons born before X as after R.
one person was born between U
and V. S was born before U and after
W.
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 Months | Persons |
 April | P
| May | V|

| Juy | S
| September |  Q
| November | R

1. How many persons were born between X and V?

X 3R v 9T fraer saidad deT 8T 42

(a) Two (b) Three (c) One (d) Four (e)aMore than four

2. Who among the following was born on August?
ffaf@a & @ AT SoF 3eTET &7 g3r
qT? N

(a) R(b) S (c) T (d) P (e) None of these

3. In which of the following month S was born?
fafef@a & & g 78 F s&1 S g3 U41?
(a) March (b) April (c) June (d) October (e) Nonae of
these
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S
 September | Q|
| November | R |

4. If W is related to April, V is related to July then, P is
related to which of the following?

afg warler & §afda 8, vers & wafta g, ar p
R # & ey gefia 22
(a) March (b) May (c) June (d) August (e) October

5. Four of the following five are alike in certain way based
from a group, find the one which does not belong to that
group?

fArfafed o # @ IR ARTd &7 @ = @ F
YR W FAT 3, 3§ GHZ & 9T M0 T 39
THE O wafUa 8 82

(a)R(b)S(c)T(d)U(e)V
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